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18. (Ⅰ)证明：连结AO，CO
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20. 解：（Ⅰ）由抛物线：
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21. 解：（Ⅰ）定义域为
[image: image132.wmf](

)

+¥

,

0

          ……………………1分


[image: image133.wmf]x

x

x

x

f

+

+

=

1

ln

)

(

/

Q

            


[image: image134.wmf]2

)

1

(

/

=

\

f

且切点为（1,0）       …………………… 4分  

故
[image: image135.wmf])

(

x

f

在
[image: image136.wmf]1

=

x

处的切线方程
[image: image137.wmf].

2

2

-

=

x

y

……………………-6分
（Ⅱ）由已知
[image: image138.wmf]0

¹

a

，因为
[image: image139.wmf])

1

,

0

(

Î

x

，所以
[image: image140.wmf]0

ln

1

1

<

-

+

x

x

x

．
（1）当
[image: image141.wmf]0

<

a

时，
[image: image142.wmf]0

)

(

>

x

g

，不合题意．           ……………………8分
（2）当
[image: image143.wmf]0

>

a

时，
[image: image144.wmf])

1

,

0

(

Î

x

，由
[image: image145.wmf]2

)

(

-

<

x

g

，可得
[image: image146.wmf]0

1

)

1

(

2

ln

<

+

-

+

x

x

a

x

．
设
[image: image147.wmf]x

x

a

x

x

h

+

-

+

=

1

)

1

(

2

ln

)

(

，则
[image: image148.wmf])

1

,

0

(

Î

x

，
[image: image149.wmf]0

)

(

<

x

h

．
[image: image150.wmf]2

2

)

1

(

1

)

4

2

(

)

(

x

x

x

a

x

x

h

+

+

-

+

=

¢

．
设
[image: image151.wmf]1

)

4

2

(

)

(

2

+

-

+

=

x

a

x

x

m

，方程
[image: image152.wmf]0

)

(

=

x

m

的判别式
[image: image153.wmf])

1

(

16

-

=

D

a

a

．
若
[image: image154.wmf]]

1

,

0

(

Î

a

，
[image: image155.wmf]0

£

D

，
[image: image156.wmf]0

)

(

³

x

m

，
[image: image157.wmf]0

)

(

³

¢

x

h

，
[image: image158.wmf])

(

x

h

在
[image: image159.wmf])

1

,

0

(

上是增函数，又
[image: image160.wmf]0

)

1

(

=

h

，所以
[image: image161.wmf])

1

,

0

(

Î

x

，
[image: image162.wmf]0

)

(

<

x

h

．                                         ……………………10分
若
[image: image163.wmf])

,

1

(

+¥

Î

a

，
[image: image164.wmf]0

>

D

，
[image: image165.wmf]0

1

)

0

(

>

=

m

，
[image: image166.wmf]0

)

1

(

4

)

1

(

<

-

=

a

m

，所以存在
[image: image167.wmf])

1

,

0

(

0

Î

x

，使得
[image: image168.wmf]0

)

(

0

=

x

m

，对任意
[image: image169.wmf])

1

,

(

0

x

x

Î

，
[image: image170.wmf]0

)

(

<

x

m

，
[image: image171.wmf]0

)

(

<

¢

x

h

，
[image: image172.wmf])

(

x

h

在
[image: image173.wmf])

1

,

(

0

x

上是减函数，又
[image: image174.wmf]0

)

1

(

=

h

，所以
[image: image175.wmf])

1

,

(

0

x

x

Î

，
[image: image176.wmf]0

)

(

>

x

h

．
综上，实数
[image: image177.wmf]a

的取值范围是
[image: image178.wmf]]

1

,

0

(

．                            ……………………12分

注：22-24题答案与理科试题相同！
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